
ANSWERS – VOLUME2: STRESSES, STRAINS, DISPLACEMENTS 
Chapter 7, Deformation of Trusses   problem 7.037:1-2, page 531 

Last update:06-02-08 

 
Remarks: See § 7.2, pages 488 to 504 
  
Answer 7.37: 1: 
a,b)  
Member Sign L∆ (mm) 
1 - -2 
2 0 0 
3 - -2 
4 + 2 2  
5 - -2 
6 - -2 
7 + 2 2  
8 + 2 
9 0  0 
10 + 2 
11 - -2 2  
 
 
 
 
 
 

 
 
 
 
 
d)  
Joint xu (mm) yu (mm) 

A 0 0 
B 0 0 
C 8 -4 
D -4 -20 
E -2 -2 
G 10 -20 
H 12 -40 
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Remarks: See § 7.2, pages 488 to 504 
  
Answer 7.37: 2: 
a,b)  
Member Sign L∆ (mm) 
1 - -2 
2 + 2 2  
3 - -2 
4 + 2 2  
5 - -2 
6 - -2 
7 + 2 2  
8 + 2 
9 0  0 
10 + 2 
11 - -2 2  
 
 
 
 
 
 
 

 
 
 
d)  
Joint xu (mm) yu (mm) 

A 0 0 
B 0 4 
C 12 -4 
D -4 -24 
E -2 -2 
G 14 -24 
H 16 -48 
 
 


